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Answer all the qu, 15 12x1=12
“hoose the most suitable answer and write the code with the corresponding answer.

sopujsirar Qurgessr 1 Qafal? ymalhe WhHégalss Gasmautiu@io

21N =) 10 @) 102 snL_ir o
The force required to produce an acceleration of 1 cm 57 on a body of mass | gis

DN B 10 <) 10" dyne d) 1 dyne
- BMCEr Qs @wraimar  ylurwd  Bessd  SEmsssToLNg
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i the atoms or Ijuicw!::q of a gas do not interact with each other, then the gas is said to
be

Yare ) ] d) a rare gas
4)area] gas b) an ideal gas c) a noble ga £
"ol serre o T g L L GlFalysmri gefluflsir Sy Glaueior

- - @) 15000 kHz &) 10000 kHz

20 50 ktz ) 20kHz  B)1500
e frequency, which is audible to the b
V30 kz b) 20 kHz

uman ear is N
¢) 15000 kHz d) 10000 kHz
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If a molecule is made of similar kind of atoms, then it is called

(b) hetero atomic molecule
(d) poly atomic molecule

ey

{a) mono atomic molecule
(c) homo atomic molecule

5. Weraumausmapsnns Qur s, S Lsusnemuilsr &gsrsr sflenL_sepsir gy
gereps Cpi5056.
\A l BT&WPEITLD L& S i
l B ‘ STHPILOT UGS ii
\c sAnGerhp 9HEs aflemar

Beusmafl — Gausirafwin r&&Esaamey

SISEHTEHDBL L5 B0

STHIdsOTs @5petlel

(AEININTWINT O AT 18

(D \ug‘)@!ﬂamr_gg,s'u iv | yaufiGerm Glauliup@bsipemn

=) A, Bii, C-iii, D-iv =) Ad, B-iv , C-iii , D-ii
@) Adii , BHiii , C-iv, D-i ) Acii , B-iv , C-i , D-iii
Match the following and choose the correct option given below the table.
| A | Galvanisation i
[B | calcination ii
[ € | Redox reaction i
| D | Dental filling iv
(8) A-i,B-ii, C-iii , D-iv
(c) A-ii , B-iii , C-iv, D-i,

Silver-tin amalgam
Coating with Zn
Heating in the absence of air

Alumino thermic process
(b) A-i, B-iv, C-iii , D-ii
(d) A-ii, B-iv, C-i, D-iii

6. Spsan @ mmyeT eflnarsginefsT o)y dumLufld srﬂturrm; ggeuflsamy
57?7
=) CH=CH < CHas < CHz=CH;
S)CH=ECH < CH:=CH: < CH;
@) CHs < CH2=CH2 < CHZ=CH
&) CHa < CH=ZCH < CHz=CH;

Which of the following shows the right increasing order of‘rcactilvity? )
(a) CH =CH < CHy =

CH,=CH,
®CHICH < CH=CH, < CH,
© 1, < CH=CH; < CHzch 4 02 (€
@ CH < CHECH < Ciy=cn .
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7, Gt SAmoiurensy geor o S o g
o) Gauiggral =) Ayl g sdlsr @) ySerrwis

) Gauig@zrind
gtructure in roots that help to absorb water is

2) root hair b) cuticle c) phloem d) root cap

g, arbisianTsT HCOsafle e srer 1T Gasss ¢ sridsiper,
3) GansGaTaTsT o) @sirasdlsir @) anpGuordlsin ) Sy &AGLrder
In the islets of Langerhans, beta cells secrete .
a) Glucagon b) Insulin ¢) Thymosin d) Oxytocin

9. uflamriosgler Bupamas Caiey Bari ur s wsrGlwrfhsmuf

o) pﬂ)”ﬁ'ﬂ@uﬁ'ﬁﬁ' =) o9 d @) wrwris ) Frisvsiy Lriafsir
The theory of natural selection for evolution was proposed by .
a) Harshberger b) Libby ¢) Lamarck d) Charles Darwin
10. srilFadlwsh Qrsvadled o_Haumgd yHmCrTiseg srammy @uwd.
o) pusGsuflur o) srigGsrwr @) sridQarror &) SbGurior
Cancer of the epithelial cells is called
a) Leukemia b) Sarcoma ¢) Carcinoma d) Lymphoma

1. 5L Garrimeafld o smrgi s Fhlsr Guswrar @ O@uwiéfullarrsd apubn

DODE. e BB
&) 95 o o) srppripd  @)efu wbpd =) Frippd
The energy obtained from the mo t of water due to ocean tides is ... .
2) Tidal energy b) Wind energy  ©) Solar energy ) Wil cnory
2. somfafluils BoupdleEst Qswsd ppsid 8_HaTESULBD THS FO

Omefd@n s GiissiuGEps:.
) S1_smar &) Gariyg@sTgiiny

int
@) @ariny #) pain
The application in a computer created any output is generally referr:;l :;.._-
) command b) folder o) file

u@#l 11/ PART I v
affenr warlldsayh. Tx2=14
GOy ) gGsgd? hSsDIS

i) offen arety 22 SULTUATEEL L mpulsory)
Note : i) Answer any seven questions: (Q. No.

- QFis
s, Epémrei sZT amruLges FEpH 5

p S
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Complete the ray diagram of a concave lens.
B
i
A
/

14. 70 s Gsreirensrey e srer Qsrsrswefi 50 el Fran ﬂﬂ‘“—“‘-’ﬂut’.@ﬁq&
Arany sLidu  OsTesmar Qauiu@ssin  Gurgl  SreusDer B
Qarerswvafy 50 HSuielmiy 485 Wl a6 gopdng, Cugy,
AatiuiuFssnn Gurs Gsrer saafs Hraggspla 51.2 1f1e8) 5 2 5, g,
aefied Srausder Gzrpp Caniu allflay whpne e smmir Qe “ﬂ"qsnmi
somrdEHS. :

A container of capacity 70 ml is filled with a liquid up to 50 ml. When it is heated the liquig
level falls to 48.5 ml and then rises to 51.2 ml. Find the apparent and real expansion,

15. Qummsss.
. eriiRurmsr - i) srfwik
. genfluTer - i) arfeSlurd
B). safiraliursr = i) mewgm T
&. SH0OyenD - i\i‘} qcfrmﬂu.uh
Maitch the following
a. Fuel - i) lead
b. Moderator - i) Helium
¢. Coolant - iii) heavy water
d. Shield - iv)uranium

16. 1 % 10°M Qureori Qsgllaysirar KOH senreafisr pH undlisnus samsA@s.
Calculate the pH value of 1 * 10°M KOH solution.
17. ywellss mLwreviews stsiarn o Garssms?
How is diastema formed in rabbit?
18. Fpueyenaruilsir umfiseer eragss.
Write the functions of cerebellum.
18. yidser wab wsThssGsisms pom QuIb wafsr Lsmyssr wramea?
Write the characteristics of insect pollinated flowers,
20. e gfeneis Cump o ulferisser STETDTSD sTeiTen?
What is meant by transgenic organisms?
21. iflsiremgmys: sifleyasr sreseummy epuggurdsinpear?
How are e-wastes generated?
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037A%. X g3 s gl symeir Couglss @ alufi’ smi_ TP HI%. )
A orrp PT 2GrEd  pefey soflonflms o L oumemmufli Buinymeir
g@ﬂ,u{smﬁ Gritbmsi wHmn Ais oPsfurs G&wwuuéhqm@_ B
Bty pbmF@L Gmiirs 2055Hng1. Guwgyin Bs) Femows) ursdlrissr
Qrinwts  LWSTURADg. A Boty  ghesm
gBHES DETET FL06HT @iy Gauglsgiosrum s STULSI%.

X'is an element that belongs to 1" group of the modern periodic table. *X” is a gas and
it's covalent radius value is 0.37 A°. Identify and write the chemical symbol of °X"

| ij) Aisametal and belongs to Boron family in modern periodic table acts as a good

J reducing agent. It reduces iron oxide into iron, It is used to make household utensils,

TsiTn e Bairsin

Write the balanced chemical equation for the reduction of iron oxide by A",

[ L) 1T
PART Il
| gy ) aCsens 7 alemdsemss eer wofsmays,
| i) (eflewtr eretsr 32ég w1’ Lo uflevalldsan)
i Note : Answer any seven questions: (Q. No.32 is compulsory)
| 23.0) 80° urgsirar Qauiug | Qasvafleir Aariufemeris wrpms ?
i) srgrrent Qaramadsr Al Qulysowall LED QgreanassT Al Qui iy ulsrTs)
apuUED sTESEID @) BeiTawasneT TQEE.

i) Convert 80° F temperature into kelvin scale.
ii) Write any two advantages of LED TV over the normal TV

4.9 gllwrers GarsmLsTaismer aflL wnyssTakisails Gaswrsd u;rnjmg

Tx4=28

|I ereir?
i} 35hs srrerisGmrd Asruiyu@sd Csrgt L Gl disenar Biriys.
) y@pEsm Jeey : Hen GG AEUESE GOSN oo
o) sfuiss yCuirig et ! PTEYSSIEEPMD EXALITEE Y L PTTTT R
i} Why does sourid propagate faster on a rainy season than on summer season?
1) Use the analogy to filt the blank
) Nuclear fission : Atom bomb :
b) Radio lodine :Goitre

Nuclear fISion ! e
Radio Sodium : .

I '
| 8 i 250 N ¢EFAD swrsdmri. urgy 50 & 2G5
| Cremy 50 & sitdsmraou : 2
| s sidamyey 250 el @alibs gD sorsdprd. wrr @

i Stdsenrewd serourtan? ai?.
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i) @) Gurniirfund  @GmTer®  Frsmrro Aeeurreny,
Glsusmaran o@Elm

2_aw_rdlnal.Gsuallmeruisr GaglsFwstur g BH(HS,
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Br&EenregyL er
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&) Gaiuglmamu e wrssnGurg GuTgiurs gm G“‘ﬂ“ﬂmﬁruﬂs&, Caun
SFelEdng. aen?

i) Renu dissolves 50 g of sugar in 250 ml of hot water, Banu dissolves 50

of sugar in 250 m! of cold water. Who will get faster dissolution of sy

i) a) When an aqueous solution of potassium chloride is added to an

silver nitrate, a white precipitate is formed. Give the chemi
reaction.

8 of samg 1:
gar? Why? "y

aqueous solutig,

cal equation of thg
b) Generally the rate of a chemical reaction increases on raising the temperatuge, Whyy

26. 1) Fpser aflmersefsr swsTEsliwiur L CougldFwsirum_enL TS,

<)) NeOH ergsarmulls spflesgisr THUGESID BEBMILTESD allmar,

o) sTEsaTT, Sjullsin

Qurierdluhd  eLgGrrGul_ Gsr Yy
5AnCrhpalmer. )
) FOCUL smremed swHGUSHE Kimd SISl UWETLEhsnmor?
2 ug el sow Burwiu@sss.

Give the balanced chemical equation of the following reactions:
a) Neutralization of NaOH with ethanoic acid,
b) Oxidation of ethanol by acidified potassium dichromate

ii) Can nickel spatula be used to stir copper sulphate solution? Justify your answer. :
27. A srénp Goirwd 96 Ppwip Hysub whpid eflsamar Qurairg. Geiwid A

allow 573 K Qauiiufamaondsv, @G pmiuns srllrsder By Crasnd
CGurg snan remsir Basm BLGubn; oA e

40 @ e meurdipg!. GoiwiA
2é  sangs.  @aGauBelmanui srllrsder L e
@aCaBalsmarssrar FusTllehiw i Cougld suosiimy an ST SIF.

Compound A is a colourless li

e. When the vapour of compound A%
d to acetaldehyde, What is ¢ :
equation of this reaction.
2. BOMsAows prowr Coufler »_sronsmos ey LD Sy L disonerd GH5S
Draw the structure of a dicot root and label the parts, :
29. 1)  meumrar S penm nﬂmrrargvm wTHy s,
=) albs sremis ST @maﬁéﬂsg&ﬁgﬂu@mﬁw ukGahAnsI.
. f
) @tf-wﬂ@" Qusapear APTECE TS i QUryr @aur Ao 4
STETD SDISE By Ul ey @mwt&ﬁuc_@drmm
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30. )

.

3.

S,

i) Rn & renflenws ST fbsar L ?
oemysslL@Ans?
j Correct the false statements:

S8 gar Rh  srremfl TS

a) The vas deferens serves 1o transport the ovum.
b) The cerebral hemispheres of rabbit

emis; are connected by band of nerve tissue called
corpora quadrigemina,

ii) Who discovered Rh factor? Why it s called as Rh factor?

Srullssr &Gl Luia suamialairm S(GATENSE) sTelsurm 2o’ 1 ih CumiAmg 7
i) Gpmb sriTiys HAnessrer STourds uuflid Qumssn unm aflaufl,
iy How does developing embryo gets its nourishment insi

de the mother's body?
iiy Discuss the method of plant breeding for disease resi

stance.
uflemrwsdherer 2 bsalensurs Bupmss Cziay 2_eireng). stsusurm?
Natural selection is a driving force for evolution - How?

) ysfuller Gupurddsr oweusASB GEe rhse wrsdiyalusr iy
yEH&swraTs), qaﬂ@wﬁ:um_.‘iq FrOy w@ss556T 114 v dimrs Sywyn?
i) Gursiers weflss s Qmafleymys &ri_ Audlsir BsApis Qsransvay wiy
STSOTEM !
i) At what height from the centre of the earth surface, the acceleration due to gravity will
be 1/4 th of its value on the surface of the earth,
i) Tn common What is the value of least distance of distinet vision of a human?
ugdl IV
PART IV

Gl: i) swoendgy clemnisepien SoLvaiiss
i) R demeib@h Tup ACLT ST
iii) Gaeanumes @LhisaR Li (b s

i) Answer all the questions

ii) Each question carries seven marks.
i) Draw the diagram wherever necessary.

Note - 3x7=21

i) AL diurieney whgiin FrTOUTTDAL B@purfsmer Cuniu@ss)s.
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ST - : st
o srereurpt 6 GRTRL der swsEsrE 20 i Mgl

ULGZl6h SriiqusT

@ﬁlﬁﬁﬂL gL * Garargl. sraflsy

Asr_Aememiid GmenssIuCGTTE!

. smilE STHTS
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=) fleT &pPlsd Lryih NSTGaTTL L SSlemarrd: Seis
@) g wrsdlullsr B&Gs osrar sbrarwds Caumiuriam g =

4 A 'T""Ia;
i) Differentiate the defects: Myopia and Hypermetropia

-

An clectric lamp of resistance 20 ohm and a resistance of 4 ohm are connected i, Serie
to a 6 v battery as shown in the figure.

a) Find the total resistance of the circuit
b)  Find the current flowing through the circuit
c) Find the potential difference across the resistance
(or) (orsveogi)
33B. i) umuEaiu allflas Gawsh asrnrsy srsrsm?
i) @esurdisisafar Cupamer amearairs &) mliLg esr?
i) Sygmssm Ulsrey whmih ansse Geoarallsar Gauniubssis.
i) What is the co- efficient of cubical expansion
ii) Explain why the ceilings of concert halls are curved,
iii) Differentiate Nuclear fission and Nuclear fusion.
A D) ginymssan Hopsghd el suisdeghn G Cuurer Gsrimu
aumail.
ii)
i)

i)

Corinflen griemwurbsd alsaranu ailarses.

Derive the relationship between Relative molecular mass and Vapour density.
Explain the mechanism of cleansing action of soap, )

(0r) (psvacgs)

paflotisefisr pafor syaissar oL susnssrufls sreaiu@ih ST

ustL et Gsrfurar dpsramib s hpsenssTer sllordsismer 565

<) 26 OsrLfd @ Amis wewrs ClrsanCurs Syl 40'”5';'”"5
GEpASTner M 915 CsrEHuiln Cualmhs L£prs QagupCLTd
ymal siflsNsdsmer.

) TRELIHST BTG whliyssr gm Qsr A @ BEhs! T
QebguiCurs  oifsfsgn 90 GCergfule  Cuellmps #y
QesoguiGurg gemhgio sremiu@dlsitnar.

@) ﬂmwﬂu{ﬁsgﬁ: BODD whlysir g Osrofd @)l mps! o
QeogiGurs  Sfsfian  ge Qsrgmgulss  Guedmbs! &
GlFigbGurg GPDHsID sraniuGdsimer, i

34B. i)

1pE
75
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b i

0 Gurtrflwn GCarrGr gy, Qi

i)

ii)

: - i
58 & Ager aurugensy 2 (aurdgih

elements.
a) Along the period, from left ¢ fi
decrease whereas along the groups,
ncrease.

The electron affinity values increas
down the group.

ght, the atomic radius values of the elements
from the top to bottom, the atomic radjus values

b) ¢ along the period from left to right and decrease

€)

The ionization energy values increase a
decrease down the group,

What is the role of manganese dioxide in the h
the production of oxygen gas?

long the period from left to right and
eating reaction of potassium chlorate for

HHDTE Seafl TATDT erciran? TRESEST.B 555,

p&BTSBIT LPULDSAD O rgin s gemarusmer yenwiiy “A", £Hoymwrs
BerBsmems).

@z "B" astgud egyby slLssséger, “C aTHTD o_epsaTs)
Guridsiiul Herars. [l
"N uledmps), ‘D" sramramilssnasulaomsn BT EST SAeneanss) aupdsmper.

&) A" ssitug) ahs o_pimus glédng?

) B" eTeriiLEih  eTgnby FlLSD  whHmb

c ssOuBih o snmssi

o fwepniler GUwTEmaTs & pis.
@) D ersi.ig ersgsemem Gowa e sar?
What is parthenocarpic fruit? Give an example.

is a cylindri i d of medulla and extend
‘A’ is a cylindrical structure that begins from the lower en ot
downwards, It is enclosed in bony cage ‘B’ aud covered by membrancs ‘C", As many as
‘D’ pairs of nerves arise from the structure “A”.
a) Whatis A? :
b) Name: bony cage ‘B’ and membrancs
¢) How muchis D?

c

for ) sy=is!

@GrrGurGemfsr gmuoimy TufEas™
wafly o__esr @umumr GFusuTiyDG

paemauilsl
N I il

. ; rrwﬂl?
Gm;b@.sn"ﬁmﬁdf pmmwsaru
oSOME.

Explain the structuré "f,a is advisable for normal functioning of human
Regular physical exercise 8 8 L ity ife?
6 B“d phys! s ofpracﬁsmg exercise in

¢ advantage: 197
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10th — Science — PTA Question — 6: Answer Key

PTA Question -

6 Answer key

PART — |
1.d) 1dyne (F=ma=1gcms? = ldyne)
2. b) an ideal gas

3.b) 20 kHz

4. ¢) homo atomic molecule

5. ) A-ii, B-iii, C-iv, D-i

6.v) CH, < CH, = CH, < CH = CH
7. ) root hair

8. b) Insulin

9. d) Charles Darwin

10. c) Carcinoma

11. a) Tidal energy
12. ¢) file
PART Il
13. Unit-2 :
M
B
i B!.
2F A i Al o
N
14. Unit-3 : TB Pg.no: 38 (Problem-1)

15. Unit-6 : TB Pg.no: 88 WTS Guide Pg.no: 82

16. Unit-10 : TB Pg.no: 154 WTS Guide Pg.no: 133

17. Unit-13 : TB Pg.no: 198 WTS Guide Pg.no: 164

18.
19.
20.
21.

Unit-15 : Inside TB Pg.no: 223

Unit-17 : Inside Pg.no: 258 WTS Guide Pg.no:215
Unit-20 : TB Pg.no: 298 WTS Guide Pg.no: 245
Unit-22 : TB Pg.no: 327 WTS Guide Pg.no: 266

22. Unit-8 : i) Hydrogen element belongs to 1% group.
and its covalent radius value is 0.374°. Chemical

symbol of Hydrogen is H and hydrogen molecule is Hy.
ii) Aluminium is a metal belongs to boron family.
It reduces iron oxide into iron.
Fe,05; + 2Al —» 2 Fe + Al,05 +Heat
Aluminium is used to make household utensils.

PTA — Model question Paper — 6

PTA — wndlf] allemsgmer — 6
uggl — 1

1. ) 1 enLer (F=ma=1gcms?=1 enteir)
2. &) BevedluledL] eumu]

3. &) 20 kHz

4 B) 955 SEm WeBSI

5. @) A-ii, B-iii, C-iv, D-i

6. @ CH, <CH, =CH, <CH=CH

7. o) GajsHgmel

8. o) Reniaededn

9. ®) &meverd Lmieiledr

10. &) &mjdlGsurmiom

1. o) @& <Wbmed
12. &) Gasmmiiy

uggl — Il
13. B6v&h-2:

14. ov@y-3: 6&H otemr: 39 (SHjey — 1)

15. op6v@-6: 11555 otemi: 87 WTS Lietemr : 88

16. Ov@-10: 1555 oo 151 WTS rr.eteo0r : 138
17. owva-13: o655 etemr: 195 WIS w.eremr - 171
18. @yevegs-15: Inside TB Pg.no: 220

19. owva-17: o655 otewr: 255 WIS wieremr : 225
20. OVG-20: 1555 oo 297 WIS wretemr : 259
21. V@-22: 155% etewr: 327 WIS wreteor - 281
22. UG-8 1) maml el 1-ag OHTGHIS  SHbiD.

sailameniy iy WHiy 037 A’Gsrtem  seiolb.
maml Fegeflenn Geugd@miuik- H,
maBL_ et psudbaapien @GBiuih - Ha.

i) Gumgmedr GEI0USMS CFIHHEI.
@I pHMFML SHOUTS RBHSHS MBS
Fe,03 + 2Al » 2 Fe+ Al,03+ Geulin oyBmed
sifleflwib, Femwowsd UTSHHTHSET CFLINSBE
LWISTLI(H&SIBG.

wtsteam100@gmail.com
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10th — Science — PTA Question — 6: Answer Key

PART —I11
23. i) Unit-3: K = (F + 460) x °/q
= (80 + 460) x °/g = 300 K
ii) Unit-4: TB Pg.no: 57 WTS Guide Pg.no: 57
24. Unit-5 : i) Inside Pg.no: 71 WTS Guide Pg.no: 71
Unit-6 : ii) a) Hydrogen bomb
b) effective functioning of heart
25. Unit-9:i) TB Pg.no: 135 WTS Guide Pg.no: 123
i) @) Unit-10 : TB Pg.no: 153 WTS Guide Pg.no: 129
b) Unit-10 : TB Pg.no: 146
Rate of the chemical reaction increases on raising the
temperature. Because adding heat to the reactants

provides energy to break more bonds and thus speed
up the reaction.

26. Unit-11:1) TB Pg.no: 171  WTS Guide Pg.no: 144
Unit-10: ii) TB Pg.no: 154 WTS Guide Pg.no: 133

27.Unit-11:

Compound A — Ethanol having Colourless liquid &
burning taste

Vapour of Ethanol is passed over heated copper
573K, it is dehydrogenated to acetaldehyde

o CH.CHO + H.1

3K : :

Acetadehyde

(fH‘(IH:()H
Ethanol

2/

Copper is used as catalyst.

28. Unit-12 : TB Pg.no: 176 (Figure — 12.2)

29.1) Unit-13: TB Pg.no: 198 WTS Guide Pg.no: 163
ii)Unit-14 : Rh factor was discovered by Landsteiner
and Wiener. It is named after Rhesus monkey.

30. Unit-17: i) TB Pg.no: 258 WTS Guide Pg.no: 216
Unit-20 :ii) TB Pg.no: 298 WTS Guide Pg.no: 245

31. Unit-19: TB Pg.no: 283  WTS Guide Pg.no: 235

32. Unit-1: i) Inside Pg.no: 12 (Problem — 3)
Unit-2: ii) Least distance of distinct vision of a human

is25cm.
PART -IV
33A. Unit-2: i) TB Pg.no: 30  WTS Guide Pg.no: 26
Unit-4:
i) a) Total resistance of the circuit=20 Q + 4 Q

=24 Q
b) The current through the circuit = % = % =0.254
c) The potential difference across the resistance
=025x4=1V

uggl — Il
23. i) a3 K = (F + 460) x /g
= (80 + 460) x °/y = 300 K
il ov@-4 1555 oe: 58  WTS Lietewr : 58
24. opvg-5: 1) o5 eremr: 71 WTS 1ieremr -
DVG-6: 1) ) wanL Jegeir 6B
) BBUISHms FJTEs GIFUIOLIL
25. opve-9: 1) ysss eremi: 133 WTS wieremr : 127
il) @) oyv@-10 : 1555 stemr: 150 WTS  r.616m7 - 134
<) HVG-10 : L55% oleor: 144
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10th — Science — PTA Question — 6: Answer Key

33B.Unit-3:i) TB Pg.no: 40 WTS Guide Pg.no:40
Unit-5:ii) TB Pg.no: 71 WTS Guide Pg.no:72
Unit-6:iii) TB Pg.no: 82

34A. Unit-7:i) TB Pg.no: 104 WTS Guide Pg.no: 101
Unit-11: ii) TB Pg.no: 171 WTS Guide Pg.no: 144

34B.Unit-8: i)
a)Top to bottom, atomic radius increases.
Reason: Due to increase in valence shell number.
Left to Right, atomic radius decreases.

Reason : valence shell number remains same,
but number of protons increases, increasing
the attraction of protons over electrons. Thus,
atomic radius shrinks.

b) Down the group, electron affinity decreases.

Reason : Atomic radius increases and so,
valence electrons are loosely bound. Therefore
electron affinity decreases.

Left to Right, electron affinity increases.

Reason : Atomic radius decreases and so,
electron affinity increases.

) Left to right, ionisation energy increases.

Reason : As atomic radius decreases, more
energy is required to remove the electrons as
we go from left to right.

Down the group, ionisation energy decreases.
Reason : Atomic radius increases and so,
valence electrons are loosely bound. Less
energy is required to remove the electrons as
we go down the group.

Unit-10: ii) Manganese dioxide acts as a catalyst and
increases the reaction rate of the given reaction.

35A.Unit-16:i) Parthenocarpic fruits — The seedless
fruits developed without fertilization that are
induced by external application of auxins.
E.g. Watermelon, Tomato.

Unit-15:ii)TB Pg.no: 228 WTS Guide Pg.no: 192

35B.Unit-18:1) TB Pg.no: 272 WTS Guide Pg.no: 225
Unit-21:ii) TB Pg.no: 313 WTS Guide Pg.no: 258

33B. opva-3: i) ysss sremi: 41 WTS Lieremr : 41
i) oovg-5: 1555 eremr: 71 WIS wi.etemr : 74
iil) opva-6: G55 etewr: 81

34A. ov@-7: 1) ys5a eremi: 103 WTS  Li.eremr
Dv@-11: ) 1555 eremr: 167 WTS  Li.e16007

103
150

34B. smve-8: 1) 9y

SI) Coebshg), Syrs SEm b EEGEEDE.
BIIHILD : Cleusilbml (B 676007 DIHBIIIISS.
QLiEEg aewTE SEm 0 [HOnEnE.
BIIeILD :  ClouelGaml (B 6T600T  IOMBITSLI,  6T60M6RILD,
LGy 1_meiiberflen  eTendTendNbend BB UNIBITED,
L8y 1_meor LOmILD 6T6VBL JT60SH 6P H G
GewL CQurer iy eflensF BB fSHS5, Seiedleo
2_(56)6T6Y  F(IBIBISH BB,

9b) Cuedmhgl, HYns TEELITET LD |Sonsns.

BIJeTD Saw  YLb BB IISBIT6D,
Gl (B 6T6VBL. [JITe0TB 61T Bev&@euTs
LIemer BB LILIL 1905 Bl60B6e0. 666 6T6VBL [JT60T

BILLLD HDBBBELI.
@LbEhg uewnEs aeEL T LD yEETESDS).

BIIGILD : DD YJo SHNBUSTE) 6T6eVSL JTeoT
BILL LD BB fSBISI.

@) QLiEhEE aueuTE uaturdgd NS FETEENG.
BIJeHILD : B OG5S UVIOTS  ClFeVeDd  GLITS/
DD YL SEDDEUSBTED, 6T6VL [JIT60IH6M6NT
BEGABLG BB HUPVV CHMULILIBB|IELI.

Guebishgl, SyYrs UETLTEED SN GONSDE.

BOJeRID V) ) 17} DYBIBIIIBTED,
Cloweriibaml (B 6T6VSL. [JIT60TH 61T Bev&aiTs
LI6m6mT S BLILIL 19 (5 B601760T. 6T60TG6)

6T6VBL JTGTEH6MEN  [BBSHUBHS GHDDUTEN  DYTBeD
CHemeU N IBBIBH.

S/V&-10: ii) LOITBIB 607 WL BT
DMLy BBNITE  CVFUIVLIBBIGS]. CLosoid, eXlsneor feor
Corssbemss DIBBSbBIBS.

35A. oIv&-16: 1) BEBYDTESONBET - DSBS
GBI ILISBITED BIBCYIUSHEV 156D GlLmTIoCVELI
emHUIeVTS BB 2_(BEUTHED BT LIIBBBS/.
BUbpenmulled 2 _(peuTElD BB  BIBCYITDHB BT
STSOTLILIBLD. 6. : SiLjFed], HbET6N

V@&-15: 1) 1555 etemr: 225 WTS  wr.etemr : 199

35B. opve-18: 1) o555 eremr: 271 WTS  Lieremr : 238

Sv&-21: 1) 1555 eremr: 313 WTS  rreremr - 272

wtsteam100@gmail.com

WWW.waytosuccess.org



mailto:wtsteam100@gmail.com
http://www.waytosuccess.org/

	6
	9-10th Science - PTA Book Model Question Paper with Answer Keys - Way to Success_page1_image1
	9-10th Science - PTA Book Model Question Paper with Answer Keys - Way to Success_page2_image1
	9-10th Science - PTA Book Model Question Paper with Answer Keys - Way to Success_page3_image1
	9-10th Science - PTA Book Model Question Paper with Answer Keys - Way to Success_page4_image1
	9-10th Science - PTA Book Model Question Paper with Answer Keys - Way to Success_page5_image1

	6a
	10th-Science-PTA-Qstn-6-key.pdf


